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PROGRAM main
IMPLICIT NONE
INTEGER :: a=1l, b=0
CALL subl(a,b)
WRITE (*,*) ‘in main
END PROGRAM main
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SUBROUTINE subl (x,v)
INPLICIT NONE

INTEGER, intent(in) :: x
INTEGER, intent (inout) :: y
WRITE (*,*) ‘in sub’, x,y
y=99

RETURN

END SUBROUTINE subl
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Program XXX
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END PROGRAM XXX f95 aaa.f95 -o bbb.exe
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Function YYY
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RETURN
END FUNCTION YYY
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Program XXX
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END PROGRAM XXX f95 iii.T95 jjj.f95 -0 kkk.exe

kkk.exe

(jjj-f95)

Function YYY
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RETURN
END FUNCTION YYY
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Function YYY
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RETURN
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> {95 jJj.f95 -0 kkk.exe
> f95 -0 kkk.exe jjj.f95
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(runcode.sh)

#!/bin/bash
f95 prdb main.f95 prdb sub.f95 -o prdb.exe

./prdb.exe
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> chmod +x runcode.sh
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e Do i=1,7
IF (A(i1)<0) THEN
B(i)="'N’
ELSEIF (A(i)==0) THEN
B(i)='0’
ELSE
B(i)='P’
END IF
END DO
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« WHERE (A<0) B='N’
WHERE (A==0) B='0’
WHERE (A>0) B="‘P’
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Python NumpyN % cl=np.dot(a,b) (0.1 s)
Python fHELE & for i in range(n): c2=c2+a[i]*b[i] (82 s!!)

 FORTRAN A% (0.15 s) vs. FORTRAN 3EIF& (0.56 s)
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FORTRAN intrinsic function ~ Python Numpy intrinsic >
FORTRAN Loop >> Python Loop
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e f95-01 inner_product.f95 -o inner_product_O1l.exe
— FORTRAN using intrinsic= 0.14
— FORTRAN using loop= 0.20 = &85t 171
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/home/teachers/weitingc/work/
demo_ bug.f95, data5.txt
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